


Electron distribution in molecules of H, and H,O

The electrical conductivity of ionic solutions

A Distilled water does not B Positive and negative lons € In solution, positive and
conduct a current fixed in a solid do not negative lons move and
conduct a current conduct a current
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Molecular equation
2AgNO,4(aq) +
Silver nitrate Sodium chromate Silver chromate Sodium nitrate
Total ionic equation
2Ag*(aq) + 2NO,(aq) + 2Na*(ag) + Cr0,%>~(ag) — >  Ag,CrO,(s) + 2Na*(aq)
+2NO5 (aq)

Net ionic equation

2Ag*(aq) Ag,Cr0,(s)

Formation of
Silver Chloride







Dissociation [: Dissociation of ionic compounds (hydration energy)

NaCl + H,O === Na‘yq, + Cl,

Dissociation II: Heteropolar dissociation caused by the reaction with
water (protolysis).

H5)< CIB-

Hydronium lon

aq.)
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Arrhenius acid is a substance that produces H* (H;0%) in water

HCl + H0 —F + -

H;0"

Arrhenius base is a substance that produces OH-in water

“Pe %~ cp o

NHY + OH™
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Mono p rotic acids (H,0 neglected for clarity)

HC| — H* + CI- Strong electrolyte, strong acid
HNO; —— H* + NO; Strong electrolyte, strong acid
CH,COOH —— H*+ CH,;COO-  Weak electrolyte, weak acid

D| protl © aC|dS (H,0 neglected for clarity)
H,SO,— H*+ HSO, Strong electrolyte, strong acid

HSO, — H*+ SO,* Weak electrolyte, weak acid

Tri p rOti C aCidS (H,O neglected for clarity)
H,PO,~— H*'+ H,PO, Weak electrolyte, weak acid
H,PO,~— H*+ HPO,* Weak electrolyte, weak acid
HPO,2~— H*+PO,*> Weak electrolyte, weak acid
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Acid
¢(H;0%) > ¢(OH~)

Neutral
¢(OH-) = ¢(H;0%)
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pH=7

Basic
¢(OH-) > ¢(H,0%)
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K, = [HOT[A]

[HA]

B+ HO

k, = [HB'] [OH]
(B]

PKs + pKg=14

1
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An acid-base titration = Solution with
B > known
concentration
]gj %I
F4 =
£ ' ; Solution with
an unknown
concentration

1400

pH

10,50

neutral point

HCI (ag) + NaOH (aq) —» NaCl (aqg) + H,0O

Titrations grad

0.00

additiéf’of basé e —

An acid-base titration

v
pH indicator
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c (HCI): c=n/V
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